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INSTRUCTIONS — 50567

1. The Question Paper contains 90 questions in Part - A (General Knowledge) and 80 questions in Part - B
(Psychology and Police related subjects)
@eailamgsmifid um® oy Oungy sa 90 e ewnds g whnh LR ey s R HnID arasigmD S1nE s W
wnL Sseiled B0 afcwndser o dramer.
2. The type of question paper (A, B, C or D) Shouid be shaded in the answer sheet using biue or black ball point pen.
The answer sheet without shading the type of question paper will not be evaluated.
@bs afarmigaicr wenaamu (A, B, C or D) aflenc i rafich ans e win_mew @ SR60 Seuid (syadas) a@Uy gl urdumBer’
Ouermeney Qaras® sup® Rev ulene. Bl apih. efamdgrelicr aimsmy Lt Blonallend, sfs ofene gmrer
RSN T T,
3. Write the Enrollment number using blue or black ball point pen at the appropriate box in the answer sheet.
e gaaelst, faus (vag) seoy Ho urd undan’ Cuanamad Qxseu® Gridems sravensy DR s g6
aupE, Seamuc e B aib.
4. Answer all the 170 questions. 170 Geerallsandgik afesL wailds Garaw(ib.
5. Each question carries half a mark. gaQleuns Cusirafligis oy wd Qi Qup e LU @ILD.
6. The answers to the questions should be shaded in the relevant circles using blue or black ball point pen,
sienaemer fad (sysiaug) sy Pip ureh L. Guestemud QarsnE S0 el L @aefed e B Lok
7. For each question only one answer is to be chosen and shaded.
90 alarmalln s el ow wd G0v vl e Bl apb.
8. Forwrong and improper shading, no marks will be given.
sapns ucen Bl gamGan, yydsd Bodsiada Qsdsrlan sis Caerelde w0 0uer Benwngy,
9. Write the Enroliment No. in the question paper. Gsidens srcizanar Qasirald s reicts sraps ayio.
10. Write the SI. No. of the OMR answer sheet in the question paper at the appropriate place.
OMR afene g grafich ereiren cmr Qsirald s raficd TapER b,
11. If there is any printing error, or error in Page No. in the question Paper, the same should be brought to the notice of
the Invigilator immediately.
2.y alerrgs el @Osgpd yésl Ve Gur, udssiad sfurs QevwrafcLnBar, Gupumimawmsii wpmpd @
sRwren Gasrallggranen’ Qupgy Qarsreswry SRy ASOUBRDg,
12. All the questions are bilingual except language questions (English and Tamil).
Lm UGB (edBad wHgd sfp) Casrafsmar gafigs Syeng s Oacirall s @rain® QomPasiay
RanBdaiiuc B ereren,




1. afmomoesi anflar gmdsr evg 7
A) EEBum B) Romems

2. B@msmpalenr Quppeineny o eRrifsIL [ETED ETEHN P ]
B} B meusgnauinransy

A) upGlomy® sranrmy
C) madaut & marLn et Lo men su D) e

(A0 0 O O
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PART - A : General Knowledge

C} @sgnell D) Ggiwafl

3. Fllwrer Lﬁgqg?ﬂgm_mgi HAETL ,-55}15
A) gBenr s3zb
C) wranar (Falgibd
4. ‘a2 b HElwdsar eardupusnal Wirsnad 7
A) &, i B) 4, &5 C)- 11, th
5. 'sauews sallgyi aepanpasu@uant L
A) umgBsnesit  B) sylssbgwner C) &gsr

6. sullyfis Geramdlu (psed SbBUSL aF 7
A) wzengd ssutbus B) ppBdsaubLiss
C) anr@idssuibLisid D) BmQleudianss meihis

air sacs present in its lungs.

B) Arisih 2 guapth
D) qell wopprigid

D) o, &

D) & suwrevwsmasm

7. In pigeon
A) 6 B) 2 c) 7 D) 9
medler g e gulralilan mugﬁgjﬁmsn‘g'}gje} LI G GET 6T ST o
A) 6 E) 2 C).7 D)9 "
8. One nanometer is equal to T - Ls
B) 1000 Picometers . = b~

A) 1000 Micrometers
C) 1000 Millimeters

905 G Qarm 187 erairiigy

D) 1000 Decimeters

A) 1000 enunéGor ey’ «_issir
C) 1000 febal LFL" 1 e

B) 1000 (94 Cambi”_dseir
D) 1000 G B’ L_dssir

9. Corals reef forming only in seas.
A) Deep never falls bellow 20°C B) Deep 10°C
C) Shallow, never falls bellow 20°C D) Shallow 10°C

10.

LIQUETL) LimenDEar Hipdlensvaiist o arer sL_afleh 2 (marailpg!.

A) sy pomer 20°C meanpwng Geauiudlena
B) syypwmar10°C
C) @upupp 20°C ganwurs Qaududas

D) @ypusip 10°C

Erythrohlastosis fetalis disease causze due to

A) Rh~mother carries Rh* foetus
C) Rh*mether carries Rh- foetus

B) Rh-mother carries Rh- foetus
D) Rh*mother carries Rh* foetus

stTfEGor Reraev G mFen 5 G _slau Crrd @duL sogenri

A} Bhgmi Rh*sgmeneu gmi aus
C) Rh*gmi Rhr&@gen e gmsis sy

B) Rh gmur Rhramenay g e
D} Rh* gmir Rht s@geney i@ aug



11.

12.

13.

14.

15.

16.

3 T 0 0 0 0O

The disease due to an inbomn error of Purine metabolism is

A) Polycythemia B) Leukemia C) Osteomalacia D) Gout
Byengelr auemi Reng wHDG @Genpiumgentsd gou@b Gpm

A) uned anss BB B) gvéCGasmBwn

C) @yavCGor wCev@wn D) Qser

The largest plant cell is

AY Megaspore of Pinus B) Ovules of Cycas

C) Citrus cell D) Sequea cell
BaiQuilw smeur Qaeh

A) auarfer QuaraGumi B) ensasatslr @ed

C) &l geav Qosd D) QsaGsrwn Glesw

An edible fungus is

A) Aspergillus  B) Puccinia C) Agaricus D) Microsporum
EBlangieh o eawersddn 19w LyEHens

A) yevuigdsveven B) wéfaflun

C) ssnfaen D) aw&BonevBumyLh

In animal phylum first time head formation takes place in

A) Phylum Annelida B) Phylum Arthropoda
C) Phylum Protozoa D) Phylum Chordata

afleviigaalley (1pgells) ganawndstd o meuren CgreH
A) geneallm ysevgs aflanengensuL_ eflssr

B) @18CrCurin g semédaneliser
C)yGon GrnGanaun syebevg) s Qesva ufi

D) wai@prenfiseir

First stage Malarial Parasite enter in human body is
“A) Merozoites B) Trophozoites C) Sporozoites D) Cryptozoites

wlBwAued g @ewesh wallgallar oL afleb waalle grenpyd Hansvwreng)

A) BCrrGemud” B) yGorGunGsmuii

C) avCunGrnGemdL D) @A0GLnr Gamd

The Fungus cell wall is made up of -

A) Chitin B) Cellulose C) Pectin D) Peptidoglycon
yeyemasaien Gashaat @)eunnre s

A) evaligar B) QecbgyGevmai

C) Quayer D) Qui G aPenersmen



17. The father of Medicine is called _
A) John Ray B) Hippocrates C) Decandole D) Aristotle

W@EESUSD SHaG T/ SyeLpSSLILIL LT
B) e iGunRCr e

1 A0 0000

e

A) grarGy
C waraaGLmed D) axflevr_m’ .6

18. Enriched vitamin tablets are produced from the following organism for human
consumption
A) Nostac B) Spirulina C) Mushrcom D) Yeast
wafiger o L Qaadrong $@5s e e worsDengaen (O AT
swunissOu@ s
A) preve s B) evfmeSeurn CY srernsw D) &eu

19. Insectivorous plant is
A) Drosera B) Viscum C) Monotropa D) Vanda
L5 2 mgmid smaugh
A) Cgaygn B) afevaw '
CY wnGara Cgain D) eunesminm

20. Cytokinesis is the division of
A) Nucleus B) Cytoplasm C) Chloroplast D) Centriole
@ C_ranseradlen arcinug) .
A) BysRusy Darey B) @& GLmSferas 19aray
C) &CarmComPenmaivi” D) Qesing MGuined

21. Which Act was replaced with the introduction of Competition Act, 2002 ?
A) MRTP B) FEMA C) POTA D) FERA
155 S EBDGU uBens Cum g ser &1 11h 2002, LSHBLIIL L &) 9
A) MRTP B) FEMA cf POTA D) FERA

22. The National motto of India, “Satyameva Jayate" inscribed below the Emblem of
India is taken from ?
A) Katha Upanishad B) Chandayoga Upanishad
C) Aitareya Upanishad D) Mundaka Upanishad
BLog CaBlu NevengPeir Kip Quadés i @sirer ‘umiienoGus Clausbgyh’ srsgyin
wresd Seiraimph sThs 6o g Bz a@ssiul L g 9
A) 3372 uafigib B)-#55Cuwna Luaﬂr_gu';
C) pé@hun o uafl_giu D) wawr_s 2 uah_sw
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23. Who was the Speaker of the first Lok Sabha ?
A) Hukam Singh B) G.V. Mavalankar
C) K.M. Munshi D) U.N. Dhebar
WPB WaEM S Ssvevau wirt 9
A) 2 .éa&1b Ry B) G.V. wraewdst
C) KM. woera* D) U.N. 8ui

24.

25.

26.

27.

The only person who won the President election as an independent candidate in
1969 is

A) Neelam Sanjeev Reddy B) Justice M. Hidayattullah

C) K.R. Narayanan D) V.V. Giri

1969 gy1b gy & (3 s Qupp amBPud Csisels ol (#Cwéms) Gaul Lmsngns
Bergy Qaup P Quppeasd w9

A) Sei> se5@al Oy, B) $8U8 M. afsuggierarn
C) K. R. promwesweir D) V.V. &f

The first linguistic state 1o be created in India in 1953 is

A) Madras B) Andhra Pradesh

C) Karnataka D) Kerala

@ BBwmralled psew (pgelley Cuomf aumfluns erpg wrgleved 1953 yib gy vy b

2 (HUTES I L g ?

A) Qacirencer B) @387 9sGseih

C) sipm_asn D) Gsgenn

By filling which material is the capacitor the capacitance can be increased ?

A) Sand B) Wood C) Metal D) Qil
WerGgaRiayer eriQurmaer Hrinlemnd Hseye L w HerBsd @ Bpew
HPada@w ?

A) wenra B) sl enL C) 2Cansts D) ersin@enrds
Unit of mability e
A) CsKg B) mav-s™ C) CsKg™ D) miv-'s
Qués srawesdlein WG

A) CsKg B) m?v's™ C) CsKg™ D) mav's
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29.

31.

32.

34.
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In a thermo couple, the temperature of the cold junction is 20°C, the neutral

temperature is 270°C. The temperature of inversion is
C) 500°C D) 510°C

A) 520°C B) 540°C
&5 Qe Berafo ent_ofleb @ eRioes@uer QoL Hlanaw20°C BELnd Qeuliugliam®

270°C erafich o Qauiudlensvw reugs
A) 520°C B) 540°C ~ C) 500°C D) 510°C
The velocity of electromagnetic waves is
Ay3x10°ms? B)30x10°ms' C) 300ms™ D) 310 ms™
BrsnEs Hymwsahsr DeansGasid
A) 3x10°ms— B) 30x 10"ms* C) 300 ms™ D) 310 ms™
Ina RLC series circuit at resonance, the value of the power factor is
A) Infinity B) Zero ~ C) - D) 1
ALC Ggnii lierenda, @i asalle Bner sryeaiulsr wH iy
1

A) @y aied B) &2 C) 72' D) 1
One Rupee notes issued by the Government of India is known as
A) Reserve money B) Narrow money
C) Broad money D) Fiat money

LIGRTLD T(GLD.

) B@wyliuesTd B) @ wuemnb -
C) aifleunen/Ugpgiu L Lesth D) sl L ensnitssvmh
There was plan holiday in India from
A) 1966 - 1969 B) 1961-1963 C) 1980 - 1984 D) 2002 - 2004
QEPwnalle B 1 G\ upsoD HyefiSsnin’ . sneval L b
A) 1966 - 1969 B) 1961 - 1963 C)~1980 - 1984 D) 2002 - 2004

?ﬁ@u Syosme Cleauel @b o5 eyumd Cprl Gaser

Motion study technique is developed by
A) Drucker B) Koontz C) Taylor D) Gupta
B tomi e g enSensw m g g QupmIBweT
A) ygasi B) smeinav C) Qrdevi D) glsn
Profit on revaluation is a
A) Capital profit B) Revenue profit
C) Old profit D) New profit
PSR seméRer 18g U sTaTUS 9%

pselew umuLh B) eumsundiew svrd ”

D) yPwevruibd

C) venyw wmnb

Reserve Bank of India is an example of a
B) Statutory Company

A) Registered Company
C) Government Company D) Chartered Company
@5 Bw Asis cumiBwmensy g5 & Cluaha® o sroemongLb.
A) uBey o B) sl @panp glaywed

D) uilcw Bguown

C) =& Ponoih
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Identify the practical Maser material among the following
A) Zinc chloride B) Chromium C) Potassium D) Lead

Bpasemeupper Guoai Qungser s1gy ?

A) sidspns @Cermang @ ~ B) &0omblwd

C) QunlinPund D) muwib

An electron microscope works on the basis of

A) Particle nature of electron B) Wave nature of an electron

C) High pressure D) None of the above

sTEL greit fewBewns R srsenty LusnL el GlowdU@b ? o

A) arevsgreflsi graer sy B) ereudgnaflen sieneviities

C) swi syupssd D) @smes sigayih Fsdenaw

The work function of a photoelectric material is 3.3 V. The threshold frequency will

be equal to _
A) 8 x 10" Hz B) 8 x 10" Hz C) 5x10®Hz D) 4x10"Hz

Quingpsir peinfen gedar QaralCuppy 2 dp® 3.30v aaflad, vwe Qg dis

B0 aseiw
A) 8 x 10"*Hz B) 8 x 10'Hz C) 5x10®Hz D) 4 x 10'"Hz

In holography which of the following is recorded in photographic film ?
A) Phase only B) "Amplitude only
C) Phase and amplitude D) Frequency and amplitude
CannGaur@gms waplile uLdsmeala uBey Cetiwu@az
A) sl glenev ol (b B) afés w (Gib
C) sl glenew wppih aFdew D) =@ ey ersvr wpmih FFs
The radio-isotope used in agriculture is
A) tst B) up&/ C) 11N:3 D) "Ni‘
aflsusmusSe LwsTUBSSUIURLD sBMuss 2BerGLmnd =
A) ‘Spa‘ B) 15Pn C) “N? D) "NQ
A human designed, remote sensing equipment
A) Camera B) Satellite C) Air-buses D) Helicopters
weaflgenned sugeuenwds U’ B aalu@iv 9w Qsrene 5 eiremy iy &@mal
A) yenaliu ssmal BY QswpenssGsms
C) aVwmemd D) Ganefismi_i .
o

The city along the Thames River is
A) Rome B) Tokyo C) London D) Cape Town

GaLban FRSSeYT @ P HOLOESSTOT LOTKHES TLD
A) Ggawp — By)) GLmé@Cur C) Qevawrer D) Csleyer
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Match | and II

I ]
a) Eurasia - i) Pampas
b) Africa — i) Steppes
c) Argentina — iii) Campas
d) South America - iv) Sawannahs "
A) i, iii, iv, ii B) i, iv, i, iii C) iii, ii, iv, i D) iv, i, i, iii
Quamggra | and Il '

| Il
a) yCGoaflwmr - i) umbumev
b) sy nSddsn — i) eve f
C) yimyeirig eurn — i) smburev
d) Qger HCwhssr — iv) seunenn
A) i, iii, iv, ii B) i, iv, i, iii Q) i, il iv, i D) v, i, ii, il

. Primary sector consists of

A) Trade B) Construction
C) Agriculture D) Tele communication
(pEED gD ETHLIZ)
A) suesflaib B) s Lewiiyssienp
C) Casmmeweanwsgionn = D) Qgnenevggriysienn
RBI was set up in -
A) 1945 B) 1935 C) 1925 D) 1955
@5 w Aeies s syeowEs L. Hem B
A) 1945 B) 1935 C) 1925 D) 1955
A logic gate which has an output ‘1" only when the input are complement to each
other is
A) AND B) NOR C) NAND D) EXOR
o dred@aer @ender Honiwns wpCnranmy sawed Cuag i GGw Qaeluf@
1" erew yemowyLh wnga'scm_'./
A) AND B) NOR C) NAND D) EXOR
The input values A and B of the Boolean Expression (m) (ﬁ)=1 are
respectively
A) 1,0 B) 0,0 G} 137 D) 0,1

(A+B A.B)=1 edgigyw yalwen swarum’yar o sraf@adar A wppih B

&, BDweanBer B ryser wpenpGu
A) 1,0 B) 0,0 C) 1,1 D) 0,1
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48. The efficiency of a half-wave rectifier made of PN junction diode is approximately
A) 50% B) 40.6% C) 100% D) 25%
PN #58snt Guin_med 2 eaundsiu’ L. SHsod HosB 6RO vwgy Bp
wHiy apssTp !
A) 50% B) 40.6% C) 100% D) 25%
49. The RF channel in a radio transmitter produces
A) Audio signals
B) High frequency carrier waves
C) Both audio signal and high frequency carrier waves
D) Low frequency carrier waves

Gy Gur L 6ed 2 srer RF syenevauflens o @euad Gagl

A) Qsallyenwit snaanaser

R) o nii @RI eusir sartl) oy ewssiT

C) Qealajenrs ensens opmih ot B iGleusin 26mifH Heeasi 7
D) @opis o Hi0eusinaeniw 2 i Hyewser

50. Which one of the following compounds has garlic odour ?

A) PO, B) P,O, C) H,PO, D) H,PO,

&ipdsem@eirarenausallsy 2 ered ey o (oswT(peL 1t Caiwb s1g) ?

A) P,O, B) P,O, C) H,PO, D) H,PO,
51. Which of the following statements about the Saturn is not true ?

A) The sixth planet from the sun B) The second biggest planet

C) The windest planet D) The ringed planet

safdGaneneniupPu BpsedrL spmiseiled eigr sAwmsng sy
A) "B iudEEusRer gnreug Gansr B) 2-ag QuiwGsnsi
C) snday uBaswns alsn Gansr D) ewenenwéaCasmer -

52. The “Peaceful” ocean is
A) Indian Ocean B) Pacific Ocean C) Arctic Ocean D) Atlantic Ocean

Steo B wnew QUEERISLG STaT HPES LIRS

A) @5PwliGlum sV B) ufiSaQupmiis s

C) 2 mgd Qu@pmsL D) ol ewnaimy s QummssL e
53. Odd one out ¥

A) The Eurasian Plate B) The North American Plate

C) The African Plate D) The Pacific Plate

Saupul L. gsimpd sav@ 1Ny Esaywb

A) yGrfwen LaEs 6 B) e @ whdsr yalgs  ®

C) ypoidéan yeilss ® D)-ufds yalgs B
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The average length of a single lightning bolt is
A) 3-4 km B) 2-3 km C) 4-6 km D) 3-5 km
2 @)y dsrareh Lgdelssr sgned Somo
A) 3 upsar4 8.5, B) 2 s 3 8.5,
C) 4 wse0 6 §..45. D) 3 wpsev 5 &.45.
The region where groundwater is most efficiently re-charged is
A) Dense forest B) Grasslands
C) Deserts D) Agricultural lands

Slgsy B Ps syamalle) Crafdsiu@wd UGS

A) Syniss sn@aer B) yaQaualsar

C) umeneweuewnissr D) afeusmw Hevsiser

For transition metal ion, the effective magnetic moment in BM is given by the
formula ‘

A) Jn(n-1) B) Jn(n+1) C) Jn(n+2) D) Jn(n+1)(n+2)

@ feows Griwtisaficr sngs48 00Uy nanes BM 6 saw. gl uusru®w
uadIIun( _

A) ,/n(n-1) B) Jn(n+1) C) ,/n(n+2) D) Jn(n+1)(n+2)

The Bragg's equation is
A) A=dsin6~- B)nd=2Asin® C)2A=ndsin® D) nA=2dsin®

Rond swsun® sTeug:
A) A=dsinB B) nd=2Asin® C)2Ai=ndsin® D) nL=2dsin6

Rutile is o
A) TiO, B) Cu,0 C) MoS, D) Ru

EHENL_GY STEITLIG)
A) TiO, B) Cu,0 C) MoS, D) Ru

Arrhenius eguation is given by = .
A) K=Ae A  B)k_pe™s  C) K=Ae ofm D) K=Ae ¥

Hyfafluev swstun® erenusy

A) K=Ae#  B) k-pe™a  C) K=Ae Hr D) K=Ae hr

An emulsion is a colloidal solution of '

A) Two liquids  B) Two solids C) Twogases D) One solid and one liquid
LITGUIDWD SIS @ S fpLod Sengasd Sp@th.

A) @uew( Siomssr B) @uein® Desmoriser
C) @uaw@ aunysser D) ow Bsimowb wppib @ Siwid
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A1- | Y0 O 0 0 0 0 O T
The British General Connected with the Jallian Walabagh Tragedy was
A) Major Sleeman B) General Dyer
C) Sir Arthur Wellesly D) Col. Manson
predwer unrurs UG B sTena st QT iYL w HyE&las seruf
A) Guoggi ervellGlLosiy B) Q@ewyeb Lwi
C) &t pyisi QeusbGlevaveal D) &iewre Loasias
. The Architect of Modern India is :
A) Rajiv Gandhi B) Mahatma Gandhi
C) Jawaharlal Nehru D) V.P. Singh
peden @) pBwrallsir Hn1 ereirny H@wH UG UM
A) gngles sn5S B) wsngwr sniH
C) puapiewnsd Gy - D) ai.19).8m
‘Indica’ was written by i
A) Kautilya B) Megasthanes C) Hiuen Tsang D) Kalidasa

'@emgan’ stergud grensy @uipSlweui
A) Qssmcowi  B)rQusevsafiiay C) wyeunss saums D) snshsnen

. Satya Gnana Sabai was started at
A) Madurai B) Rameswaram C) Vadalur D) Chidambaram
8B w gpaswFan L BpiuouL L. @b
A) wgieg B) gnGueveaigs  C) augui D) fswupth
The Battle of Plassey took place in the year
A) 1757 B) 1764 C) 1772 D) 1777
Wenrm@s Cuni peoL_CQunp @
A) 1757 B) 1764 ~ C) 1772 D) 1777
. Which one of the following is formed, when phenol is distilled with Zn dust ?

A) Benzal dehyde B) Benzoicacid C) Tolvene D) Benzene
Janene Zn grer Qanein® smi1e& angd@h Cung feoL_ g

A) Queirsreiigenan® B) Dusirsmufis syleutd
C) Qrngyadsi D) Quenan
Schiff’'s reagent gives pink colour with
A) Acetone B) Acetaldehyde C) Ethyl alcohol D) Methyl acetate
afiien sryenfly_or Qeijg Geond Hauly Flodemss Gar@ég Goiwd
A) P _Crnewwr — B) P Lnavgeman®
C) asd gpevsanred D) GuPe R G
Cone.
. CH, COCH, _nso. , 7

A) Mesitylene B) Mesityl oxide C) Phorone D) Paraldehyde

ant
CH,COCH, _uso, ,?
A) Quiilen s B) Quf e s s
C) 5CunGgmewr D) unmgrdygeman(® —
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The acid which reduces Tollen’s reagent is

A) Acetic acid B) Benzoic acid C) Formic acid D) Oxalic acid
‘Lnevarev’ srgenflenw & H&@L yiblevtd

A) X198 gfleuib B) Quearsmuig oyfevid

C) sumifé syfevib D) ~yydanells gy1hevid

Dual character of electron was explained by

A) Bohr B) Heisenberg C) de-Broglie D) Pavii
ssL gnafler rilweys seatenwearw aIeréDweud

A) Gumi B) Qapuissiiuié C) g-fgméed D) wmeli

In DNA-recombinant Technology is visualized as mobile genetic
elements.

A) Plasmid B) Transposons  C) Vector D) Foreign DNA
DNA -wgy Gsiidens Qsmfley ' UGS BL_orRib Wyl Qur@wer ete LB U ar
A) Searmevl@aer B) woneren Gungmrsnsen

C) Qausci D) ywed DNA

The following female fish species exhibits buccal incubation

A) Catla Catla B) Cirrhina mrigala

C) Labeo rohita Dy Tilapia mosambica

e Cuea e Q)ard seir upL” enL_seaer aumuied D US G| IO & HNEGLD
A) sCars e B) @dengern hisneon

C) GalCGun Cra@ L D) ®evm'nlwnr Qunsmbiiss

The Author of the book ‘Common Sense’

A) Voltaire B) Benjamin Franklin

C) Thomas Paine D) Thomas Jefferson

‘Cung oy’ erciigyb preeir < Allwi ;

A) G B) Quessdar Danmisaer

C) smosvBQudicr D) smwev Cguiesr

Which of the following princely states refused to join the Indian Union ?

A) Hyderabad B) Mysore C) Jaipur D) Travancore
Q5w geBlugPed Coy 1055 oyya

A) e@apsorunsg” B) D@yt C) Qgguiy D) @weaunmieni
Name the person responsible for the founding of the League of Nations
A) George Washington B) Harry Truman

C) F.D. Roosevelt D) Woodrow Wilson

uenar (D& S1p&Lb 2 (5eunsd Sngestions Q@B
A) gy aunayri_eir B) amnrfl Ceproar
C) al.y.enov@eucv. ~ D) 2. Gomallsvaen
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Which one of the following has higher electron affinity value ?
A) Fluorine <. B) Chlorine C) Bromine D) lodine

Bpaan_eupmyer e1g) 9Bs erevsgre L P Qs gy
A) o%oLycary Matr B) @Gemafair C) yGombBear D) Buwmygesr

For a molecule with X, — X, = 1.7 the percentage ionic character is

A) 25% B) 50% C) 75% D) Zero

2B wpavdampla X, — X, = 1.7 srafler yueal@amannier ssaisib

A) 25% B) 50% C) 75% D) ys8fww
The shape of Pcl, is

A) Pyramidal B) Trigonal bipyramidal

C) Linear D) Tetrahedral

Pcl epevdign pileir auig outh

A) g B)" wps Canenr @)@LirH 6

C) CriGar ® D) mrenp®

In which plant did Hugo de Vries observe mutation

A) Neurospora B) Sorghum

C) Oenothera lamarickiana D) Pisum

155 SmeursHe anluGameauflen Die i wiPpSms e Bk Smi

A) PDySGorevGumam B) Gsmemb

C) mGeangon earndSwnesm ~ D) ulrmesd)

One molecule of FADH, on oxidation yields

A) One ATP B) Two ATPs C) Three ATPs D) Four ATPs

@ epvsaam FADH, g seligCGearppwe_5g o maingb ATP gpevdsmmseier
GTGRTGN 1% 60

A) @w ATP B) @uew® ATPssar

C) ewparmy ATP saen D) snerg ATPasar

Which one is considered as ‘Biological Paradise’ of plants and animals ?
A) The Gulf of Mannar B) Nokrek

C) Nilgiri D) Namdapha

smeug HmIb afevmigselar o ulMwed QFnisswns s@msLILGLD 2 Wiflw wrE ueard
TS|

A) weraTTT QuEneTGLIT B) mrségw -

C) pav@ D) mwgumr

BCG is the vaccine for the following one of the disease

A) Cholera B) Typhoid C) Leprosy D) Tuterculosis
19.8.89. (BCG) e155 Cpriissma sGLILS

A) amevgm B) @Lobumii@®@  C) OsmupGrmis D) smeGrmu
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83. Name of the connecting tube of human middle ear to pharynx

A) Vestibule B) Eustachian tube

C) Fallopian tube D) Cochlea

weligafiar 34 Qrafienws g revsene yL et Qeswd g Gpaier Quui

A) Glavavigifgyed B)/ga}’Gl_opnuar GLped

C) unBaniSuweir D) srgeflwm
84. Helicobacter pylori cause the disease called . . . .

A) Peritonitis B) Toothdecay  C) Peptic ulcer D) Liver cirrhosis

QanaflsGarGuéLi evuGeund unde Aunefernsh o mearr@id Csnuiler Quud

A) 2 goieuwyenn spHR B) up @av{,éeng_
C) grsv yevar— D) sdelged spn@

85. Blood is kept in a liquid state inside the body du9 to the presence of
A) Thrombin B) Fibrin C) Insulin D) Heparin

510 2 1_fleb Qrés5ems Drav Henawilleh emeus DL
A) Bomaler B) otewulidlsir~  C) @levrsafeir D) Qapriimdsiy

86. The term “chromosome” was first introduced by
A) Flemming B) Balbiani C) Bridges D) Waldeyer

&CrCnCsmb eréirp Qemsiene sl LGS weui
A) QemoSe: ~  B) undnfwmenf = C) A gev D) sunebGr i

87. The outermost layer of root is

A) Endodermis ~ B) Rhizodermis  C) Cortex D) Pith
Gaudlelr QaveRiym P&
A) 25505760  B) engBanQ_mBewC) L mewi D) 93
88. Complete oxidation of one molecule of glucose yields
A) 38 ATP B) 36 ATP ~ C) 35ATP D) 32 ATP
tpepwwne & alsgemd KL 5s & a5sCasradedmhs R Liugy
A) 38 ATP B) 36 ATP C) 35 ATP D) 32 ATP
89. Bentham and Hooker’s classification of plants is an example for
A) Artificial system B) Natural system
C) Phylogenetic system D) Sexual system
G) . .l.@.gjlb g- + L)U’@g. . ﬂ:” . . . 3. . II ’ﬂ:ﬁl.ﬂ?
A) Qeupena uanaliun@ B) Qupes cusmsliur® _
C) woyaf) uevsoun@ D) @eardiQu@pés suansiur®
90. An example for synthetic auxin is
A) IAA B) PAA C) ABA D) NAA
@g1 Qewpens 686 350k

A) 1AA B) PAA C) ABA™ D) NAA
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PART ~ B : Psychology and Police Subjects

Which principle is the basis for Forensic Science ?
A) Logard's Principle of Exchange B) Charles Darwin's Theory of Evolution
C) Edison's Theory of Electricity D) Mendel's Theory of Inheritance

BLW Hyflallusd gimp e5s Qereiensflaner S LIueLwns Qsraa® QrusiGBng: 7
A) Ga.m&m'ng.sir uRwIPng Qaraens ™

B) emievai LmieQafer Lfesmin euerish Qancrens

C) engeaflsir iBeieny Qansrens

D) @uewi_efsir umgibudu Qaneirana

The Jurisdiction of Railway Police does not extend to

A) Goodsheds and Yards = | B) Dwelling of Railway Staff

C) Train Compartments D) Railway Tracks

@@Lbl._u_':unm% areuc fleanaw HBanms Spaan s1i@ By Ssucafdsne

A) #145 .chm_a_cmmcir B) @QurideCGar ussflwmeri Gy WmLysss ~
C) @udlsv Glu yser D) @oded umengsser

An organised Civil Police Force came into existence in Tamil Nadu by virtue of the
following Act.

A) The Indian Police Act, 1861 B) The Madras District Police Act, 1859
C) The Indian Police Act, 1888 D) The Indian Penal Code 1860

sUllips wésalisy sofl 2 Aowsmer ungsnis ag e wds iUl L ST oD,
£Gy o srer a1 1L_j@e gpatd Qewsbun (ég supss

A) E)ESW snare st 1b, 1861 B) Qosrenaw inmsui .t Sneusd #LL 15, 1859
C) @58w smarsy 11 _1b, 1888 D) @5Pw ssiw_enswé &L 1b, 1860

The concept of finger print evidence was propounded in country
in the year -

A) United States of America, 1859 B) Great Britain, 1869

C) Germany, 1861 D) India (Madras), 1895

aflged Goens sr_ Awib 181D SB53 BT 196 QL. LD
SIQSSIMTEHLILIL LS. :

A) =Cwodam, 1859 B) @& emmg 1869 P

C) @Qgiweaf, 1861 D) @pBwn (Qseransn), 1895

Arrest, Detention, release etc., of a Member of Parliament should be informed to
A) Chief Minister of the State

B) Prime Minister of the Country

C) Chief Justice of the Supreme Court ®

D) Speaker of Lok Sabha

UngmesLLETD o pnfarileir enag, 5QUILE sTaue wHD NGNSHD B uama
wnmé e CaMalsss Gousr®itd

A) rfle (PSWENLFFT B) srlyer Jysw wiSh

C) 260 BHuenp gmoais FRUS D) ungngnwenp sumprwat
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If x stands for —

+ stands for =

+ stands for x and

- stands for + then
6+4+2-7x 9+3is

A) 20 B) 16 C) 15 D) 19

X GTGTLIZ) — 6TeqayLD

+ eTaiTLIg + eTewWayLD

+ GTSTLIG X eTawayLD

— GTGTLIG] + TEQYLD 2D LOBS TGV

6+4+2-7x 9+3 asg

A) 20 B) 16 < C) 15 D) 19

The number of three digit number is

A) 729 B) 901 C) 899 D) 900

epeigy @) wss eransalar erearenisana

A) 729 B) 901 C) 899 D) 900

A total of 380 coins of 25 paise and 50 paise coins make a sum of Rs. 130, the
number of 50 paise coins is

A) 140 By 180 C) 120 D) 110

25 wppih 50 evLien grssriisen oy mGw 380 sraivendidena e e BTesTW B & 6flaiT
@iy Rs. 130 k. @B 50 evusn premuwisefer sretrenfidands

A) 140 B) 180 C) 120 D) 110

The number of 7’s in the following series which are preceded by € and which is not
preceded by 8 is

87678875679761677688697687

£ 3 B) 4 C) 8 D) §
87678875679761677688697687 1D 168 Qgm_ Mo 6 enenyr Osr_iEg) gy emmeD
8 ewewr Gz iipSongy e pgienen 7 seflen erevlldenss

A) 3 B) 4 C) 8 D) 5
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100 to 101 select a figure from the figure from the figures (1), (2), (3) and (4), which would
continue the figures A, B, C, D.

100 w,ﬁQ!Lb 101 Q&n@éaduLder 2 paumisernar A, B, C wpmyo D & Clem_éwns
g Geuemgu 2 Heutd 2 peumsar (1), (2), (3) womd (4) @ e erarg Jganar Ggrrey

Qeiwayib.
100. I | I a I I
n @ 13 (@)

n .|

(
C) D) H

101. XX

(1) (2) 3) (4)

A | B)

C)X D)>{e/
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102 and 103 choose the figure which is different from other. s :
102 wopmyh 103 Csr®és Ul G erer 2_meunisefsy R 2 (HeuLd LoL”(BILD LoD 2-(HeUmIFeHGT

Clan_mifelmssy LInUGSDS rPUELL 2 GeusBanes Csipbls B &saLb.

102. >< \\\ >< ‘
A) B) B )
103. ; /
A) B

104 and 105 — words are in coded lan

given situation.
104 Loppib 105 £Cyps; CEnRSa 1L Reer eumisensser B Qs erney GBI @
2 eirenar. Qaa@EsLUL B erer prlevwss appenny Cal sl @erer NS en 585
sflwner GBS 1y enewrs aea%r@r_%q.éaaﬂb 2
104. If 'VICTORY' is coded as ‘ZMGXSVC’ then ‘SUCCESS' is coded as
A) YWGGIYY BY WYGGIWW ~ C) WYGHIWW D) WYHHIWW
VICTORY’ erairp Qamsvenaw ZMGXSVC' erarenLb G mluf G aearned @miss e SUCCESS
s1aTp Qensbaws GHLPw GBUE ‘ :
A) YWGGIYY B) WYGGIWW C) WYGHIWW D) WYHHIWW

105. "NEPAL' is coded as 41985 and ‘SRILANKA' is coded as 36258478 then ‘INDIA’ is

coded as
C) 42028 D) 24528

A) 24028 B) 24128
NEPAL' ercirigenes 41985 eramayip ‘SRILANKA ersirLigeven 36258478 eramayid

&DS19.56 Qg neimy.ed INDIA ercirugsir GOE®

) Y D)
guage. Identify the coded word depending upon the

A) 24028 B) 24128 C) 42028 D) 24528
106. Example for Primary Explosive is
A) Lead Azide B) Penta Erythritol Tetra Nitrate
D) Trinitrotoluene

C) Nitro cellulose and nitroglycerine
W5 flevav Clouy QLinmesée o 1@ Ss556m6)

A) snflw se0s®

B) Guer_ etflg®Mi_ned Q1 gn anL Gy’

Cg enp_Ggn ClesbgyGovmeiw Lopmyb wme Cn Hedemanr
D) yengenp Gom_ngyuier
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107. Metallic Sodium should be preserved under which liquid ? i
A) Oil B) Water C) Kerosene D) Alcohol
Gamgwio ﬂeifgxub 2 Consgang eris HrausPe Lngisnssiu@SDS!
A) eremClewmris B) sewenfi
C) woevwQlewressrG) esorul D) g evsanrey
108. Toba.oco. contains an alkaloid called
A) Nicotine B) Codeine C) Nascopine D) Papaverine
qm&qﬁlmw@d.ammdu@m 2 RsOTLR 675 ?
AY Bl&CGam’year B) Gamesn C) prevGamenusirD) Guiiumarmer
109. Embalming of fingers for taking finger prints from cadavers is done usually by
A) Formalin B) Water C) Spirit D) Phenol
9CrsmsalaGEs msGrevs a@riusHE @asailsvsmer USLUUMBSS 2-Fa)b
GauB LG Lmper
A) oumiweller  B) gewenfri C) erflempmud D) oSotfarnsd
110. Snake venom is a mixture of which substances ?
A) Haemotoxins B) Cardio-neurotoxins
C) Proteolytic toxins D) All the above
umby aflagpLd eraeuans Beud Clumg L seflsr Sewanas ?
A) @3 pEssS6T B) @sw wphpib pobL pEFESeT
C) yus Qamevedlaer D) @eaiwamarggih

Read the following information to answer (111 — 113) questions :

Six members of a family G, H, I, J, K and L are Accountant, Clerk, Lawyer, Jewellew;y
Doctor and Engineer, but not in the same order

i) Doctor is the grand father of L who is an Accountant

i) Clerk J is married to G

iii) 1, who is a Jeweller, is married to the Lawyer

iv) H is the mother of L and K

v) There are two married couples in the family
8Cyp Qan@asiiu Gerarafeurismar agg (111 -113) arenr o diran Gaarallés@56S
ugevallGsaLb :
S Gui QanesrL. @ G@LbUSB e 2-aT6m G, H, |, J, K wpmyb L erairusuiss apenpGuw
SRUSHAGNT, GTAPSSIT, AUILPSHSMIEH, QuanGlsnevevi, WHSHT PP Cunlwurert
aeTUGuTS e gy eTTey @enoy sflumes auflenguiled @ebcmv

) w@ssi, Las sewssmerier url e

i) J ererm e1epssi G eTeiTLIE T &)@ LoewTLh Q&ugysvr.mnn e

iii) 1, eraip QurnQEmLT AIPSGDIEH@T BLoswrid Qedigerenm

iv) H ereirweudL wppib K @ar smwmr ; - :

V) G@usHd o srarauisaiey @)@BauT B(GLOGTLD Y &TeUTSET eTa1c)

111. What is the Profession of K ?

A) Doctor B) Clerk C) Engineer D) Accountant
K sreircuilei Qsmfleb erairam 2
A)ﬂfggﬁ,mi ? l_-tg) GIUPSHIT C) Qumilwunmeri D) sewrdasman
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How many male members are there in the family ? . :
A) Two B) Three C)+Four D) Can't be determined
GOLUZEG 155 e YT FLITSET 2 STOTETT 9 . ’
A) @saiv®  B) wperpy C) preig D) semsfL ¢y wallciana,
How is ‘G’ related to ‘'K’ ? "
A) Wife B) Father C) Grand Mother D) Grand Father
‘G’ erarueun 'K’ @SlD @ erairew 2 pay D 9 : :
A) wanaral B) sz C)/um;u;. D) wm e ermi

What is the status of the confession given by an accused to a Police Officer ?

A) Admissible in the court of law B) Inadmissible in the court of law

C) Relevant in the court of law D) None of the above

PO S1auD YAl ib GHpib Fm L dul L g@eagTed QsIRESUILEL SULSH
WS GapsBei Klemev staiar 9 ;

A) BRwemsH e IDmI&O)s rerer @b

B) #8warnsse THDISCS neTeTILC L)

C) pBwens3Ped Qs o srenenarnis 6100 3.8 5 Q& nemen i (B Lb

D) Gulw Qensirer srgyaydsvency ‘

What sort of an offence is said to have been committed when two or more persons
fightin a public place and disturb the public peace ?

A) Criminal conspiracy B) Affray
C) Theft D) None of the above

Blran® Sive gl 9556 Cuobul Leuriss, 2 Clungl @)L B seiren LB euser
apaLd Quag) syiDeaws Gaasen Gung) sautser B3 SDDSes OeiSmmiser 2

A) GPpwpm &8 B) ssapey
PGB D) GumnQensrar ggnfaana

What is the fundamental unit of heredity ?

A) Cells B) Chromosomes C) Genes D) Amino acids

UL uRWEHO oyg L yewsETs SHGSLILIB UGS 615 ?
A) Glzazar B) &CoaCGunGambssir
C) danrser ¢ D) ' oo Carr gy llevmiser

The magnified image observed by looking through a magnifying lens is known as
A) Real image B) Virtual image  C) Directimage D) Inverted image

R 2% QLB E5 Hesmewny apevtd o GOLIGESILIL () B GUD b Lth sreireummy

B) wrwhibub

A) o aiwreniousnes (Mbuih
D) gewaw8pbiih

C) Grog (Nbish
Information Technology Act was enacted in the year of

A) 2001 B) 1984 C) 2002 D) 2000
gaae Qsmflebm L s b eThs Q) plenp Couppiin’ . g
A) 2001 B) 1984 C) 2002 D) 2000
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Statement : Is investment of money in insurance policies a wise step
Arguments : |, Yes, it ensures secu¥ity and covers risks.
Il. No, by the time the policy matures, the value of money falls
onl down considerably.
A) E.n y argument | is strong B) Only argument Il is strong
C) Either lorllis strong D) Neither | nor Il is strong

s Ruib : Qeingeircis LinalPsaieh apped® iz LB Fnadgentd ?

fleurgd b, @& ung sy wHmLd FLoLIGe s W 2 nI® Qew&pg
I, wanev, LmeilF) (y)u)_cuml_u_(l.b STVEB LTSS LS LIL)
A) | oG éﬁ“‘miﬁ@ QwéeLw.
) | LG 2 miFwnang, B) Il ol @b o myB Wiz

C) | avvevgr Il 2. pi@wreng 7 D) | eveugy Il o y@waeng @evaew

In each of the following question series one term in the number series is wreng. Find
out the wrong term

16, 22, 30, 45, 52, 66

A) 30 - B) 45 C) 52 D) 66

&Gy Qan@ssiuc Gsirer sraiw Qzm_fed @@ QBT L BLb SUDTEZ HPS
seTLBlBSI 1SS ?

16, 22, 30, 45, 52, 66

A) 30 B) 45 C) 52 D) 66 ~
Statement  : Is the government justified in spending so much on defence ?
Arguments : |.Yes, safety of the country is of prime importance.
Il. No, during peace, this money could be used for the devalopment
of the country.
A) Only argument | is strong B) Only argument Il is strong
C) Either | or Il is strong D) Neither | nor Il is strong
ars&Rwb :  ungsTiy usllssTs QFwall LG LIS 2 T TS
RumuCu@SsDnsT ?
Caflaungh ¢ | b B QGT UTHSTLIL] BTG (LPSEHTENLDWITES QETD)

Il. @evensv, Hec® Blevaywd @palles @)bs LISNGNS B 1965
UGTTEREHMS LIWETU (HSS@ITLD
A; afleursb | wl @ epPurarg — B) allaurg |l wl @b o punarg
C) | yjovag Il 2 B wneag) D) | gyevevg |l 2 piPwneng) eev

Statement :  No regular fund have been provided for welfare activities in this
?/ear's budget of the factory.

Assumptions : [. The factory does not desire to carry out welfare this year.
Il. Budgetary provision is necessary for carrying out welfare

activities.
A) Only assumption | is implicit B) Only assumption Il is implicit
C) Either | or Il is implicit D) Both | and Il are implicit

ursRww anng’;&nmwuﬂcb TTRFE&6185 SFIGSLLB L CFTs @S
QLD B JPlémsuilev @evensv ‘

Sarsnw : 1. CQsmfpsrow uarE® ClFLEEEE S @)bS o (HL-LD 5l(HLILLD

GEMEV.
Il Ggrfipameme waridd QeswasensdE HS 9HEGUE
QUISILDTETSTGLD.
A) yggyoneid | 1oL (PLD 2_GiTemL_EI LD B) sigyionamid || o @b yriiGLb
C) | s Il gsreug gem edeoniigk D) | wppdl @ran@Gu o srem g
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. Statement : The cotton crop continues to be poor even after the introduction of

improved variety of cotton seeds. . ) .
Assumptions : |. The yield of cotton was expected to increase after introduction

of improved variety of seeds. ) .
Il. The yield of cotton was adequate before the introduction of new

variety of seeds.
A) Only assumption | is Implicit
C) Either | or Il is implicit
! Cbu@sstiul L wHmih g eeawnet UGSS 0576'0.55@'7 Bl psib
Qeuig DG UBSS BIsb 2 HUSH G@paTsCa o.ditang.
Swrans : |. Gubu@ssiiul L alamssamer yBlupstb Gsiig LD G LG5S By
Cosaeu Db HGLD 16Ty TRIIUNTESIILLF.
Il. CssrauwmersiemyLmss mred GobL@SSUILL L afenSsaeTIBILpsLD
CRiausnE (WerGL 2 eTens)
A) sigywrenid | w G o erem_mi@Lh
B) wisywmans |l wl @b 2 erer ki@
C) | sydvavgy | ggmaigy germ o dren_migh
D) | yaavg Il o dren_disng)
Statement : Should there be a complete ban on registration of new cars for a
few months in the big cities in India ?
Arguments : I. Yes, this will significantly reduce the number of cars on the
already over crowded roads of the big cities in India.
Il. Yes, the existing car owners will be very happy as they will face
less traffic snarl in peak hours.
lll. No, this highly discriminatory against those who decide to buy
cars now and hence should not be enforced.
A) Only | is strong B) I and lll is strong
C) Only lil is strong D) All are strong

wréRuib : @pPHwredler Quilu psriseioyBw saisefsr LSy Oeiganew Hov
LG RIS EEEE S L O)FUIs) eussEmD 9
afleungs @ . b, @)gy QuRlu paamisefie o_drar sat’ Cpeme samy Liuns
GPDEGLD.
Il. b, srieweuggs @wliveuisesss w&PERwns Q) méG . @)
Cuné@garsg Qpleme gallid@Lb ererugme
. @eamw, @& yBsrs sii ks Gevermr® b GIGHTD GTGRTERTLD
Quinsin QL Loamdsai_gegube o,
A) | vl @b 2 pBwneng
B) | wppib Il o-pu@wnengy
C) lll v i@ 2B wnarg
D) syenenggib 2 p@wmengy

B) Only assumption Il is jrr_lplicit
D) Neither | nor Il is Implicit

QUrERNwib
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Statement : Some trains are roads, no roads is Jungle, all flowers are jungles
coni:‘!usuons :I. Some trains are flowers
Il. Some trains are Jungles
lll. Some flowers are trains
IV. No road is flower
A) None follows B) Only Il follows
C) Only Il follows D) Only IV follows

SR Qcyﬂu.ﬂsim;dwnmsuadm_dvmg,a;m.'.q.eiwnmw&dr@d)mw;élm‘”ﬁ'@
LS EH@HLD &L 19.60 2 _cirarer
wpyysar | B gilciser ysserme b
Il. nguﬂsbadrsrr@&mn@xb

. 8w yéser puldaem@b

IV. snenevser LS&6T 9j6hev
A) eigiayib Qgm_grgy B) Il wi @b Qsm b
C) Wl o @b G m_med D) IV ol @b Cgm_(5td
‘X’ an accused of murder alleges that by reason of his unsoundness of mind, he did
not know the nature of the act. The burden of proof of his unsoundness lies on
A) The Investigating Officer B) The accused X'
C) Judge D) The Doctor
Qsrena Qeiissns @pprb er L Ll L X' srdrueuit gner g ® sarBeanbleens
sngewSSTe HNES CFwelear satenwaw HPEEGHEsaldeane etawr aurgT@E DI,
Ieuit ysBaaunBend @eewngei statuag B@L98@ b saw wnags Geipss ?
A) aflzmgeneuwr B sTh B)-@ppib sm’ i un’ X
C) s9uS D) w@sgieui
Whether a dumb person can be allowed to give evidence ?
A) Can be allowed
B) Cannot be allowed
C) Only with the consent of the mother of the dumb person
D) Only with the consent of the father of the dumb person

9@ 2s1anio FUMT FTCAWelES LB EFTLOT ?

A) eispiwBsswnd B) wisywBss @uens

C) sarenio pLider MG FLOLOSSIILGT D) ssrento sl 56T FLDLDSSH)L6H
To prove a fact how many witnesses should be examined ?

A) Numbers are not important B) 2 witnesses

C) 5 witnesses D) 10 witnesses

P 2_@TGN LW B 65 TS ST s’ fser allenss i Geuear®b 9

A) creimenfidans (LpSEUILLDD B) 2 g Ssar

C) 5 s’ faen D) 10sn . fsar



129.

130.

A0 O OO o

24-

Local law as defined in section 42 IPC is a law
A) Applicable only to a particular part of India
B) Applicable to particular subject
C) Promulgated by ordinance I
D) Applicable only to group of people
Siley 42 Q) BHw semL_amars sLLSBET LILg 2 6ears i (‘W-—'-—’TU) FLLID TGTLIZI
A) @r8wrale: @ U@Quﬂav ' P O UBESSIULS Falg LG
B) em AUl L sealiyssnans
C) weusgési 1_s8e ppeuid 9jwe URSSLIUL L G
@@ #MIs S LB G Cunwmhgasg)

Whether a Judge has got power to put any question to a witness to discover a
relevant fact ?
A) Judge has power
B) Judge has no power
C) Only with the consent of the defence advocate
D) Only with the consent of the witness ;
2 @manLoanw KB Qunmsl B AHUSBW sm” Henwr Gaeirad GsLs HFETTLHTTL_T
A) 3PUBE@ B aTub 2 ()
B) g@u@&@ SABETILD B vensy

C) oo sn’ L Lu eullsir aupsssleshest &wwgggu_m w ®Cw Cslsupiyuih
D) sm _&ulier #ibiogio Qupp Ip@sner CaL s wpig.ujib .

Question (131-132) are taken from the given diagram.
Caerald (131-132) Bpaav UL 8 BHS) sTRS&L 1L Beirens).

31.

132.

A

What is the exact opposite side number of 2 ?

A) 5 B) 1 C)6 D) 3

e1eu @)gesmiy @ B e18\es ereiten erevy 2_Girangy) ereimy ST (DI E&a LD
A) 5 B) 1 C) 6 D) 3

What is the exact number placed in the opposite side of 6 ?

A) 1 B) 5 C) 4 D) 3

A) : igyaﬂpo Gg;réﬂ@mw, B @5 @b et areimy am@'—ﬁl‘}ﬁ&;a{m
) 5 C) 4 D) 3
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Dacoity means

A) Two or more persons committing robbery

B) Three or more persons committing robbery

C) Five or more persons committing robbery

D) Four or more persons committing robbery

F LB Claretens eraiLgy

A) @uan®k 2evag 250G Cupul L guiser Qsduyh Csneans

B) epeitny SAveg Isn @ Gupul L puiser Qeduyb Qsndims

C) 268 VNG AspHE Gupur’ L puiser Qs Qsnens

D) BrenG AVNG S$H @ Cupul L puiser Qeduyb Qsnsens

Which of the following Sections defines the offence of murder ?

A) Section 302  B) Section 300 C) Section 303 D) Section 304
Wereupumausaiish a155 L9Mey QsnamewsGppsms alamIuDIERDS 7

A) 9fey 302 B) 9fa; 300 C) 197ay 303 D) 9y 304
‘A’ commits theft in the residence of ‘B'. He is liable to be punished under which
Section of IPC ?

A) Section 380  B) Section 375 C) Section 400 D) Section410

‘A" erainiisuii'B srsinucueir o9y ob D @B, Hyeui B)BH W eRTL_enend FL LGB
aps Lfallear 81p gewmgsaiuL Ceuanmg wari ?

A) Ofay880 B) 9Mey 375 C) ey 400 D) 9fey410
A person arrested by a Police Officer cannot be detained more than how many hours ?
A) 10 hours B) 24 hours C) 48 hours D) 36 hours

ST0UGH QST QEHAINTE &g QFiuLiuL L @y aigsmar wefl CEIS8DE
Guoav sreuelled eneus B (BSS® Sl ?
A) 10 wenfiGpob B) 24 wenfiGpod  C) 48 wenfiGpob D) 36 wenflGpgid

Who can disperse the unlawful assembly ?

A) Executive Magistrate

B) Officer-incharge of a Police Station

C) Police Officer not below the rank of a Sub-Inspector

D) All of the above

FU L eSS LoneT fal LEISEET SRS QesvayLomp) Wit yenewml_ewmh 7
A) Pieunsgmep pHT

B) sreucdenevw QurpiLiy SjeVIeueIT

C) emiy gyuieurarian HoaéS BPULTH ST I QIeUeT

D) Gup Qamaiter HemaralHLo
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Find the middle letter between 4™ and 16" letters in the English alphabet.
A) 8 B) U C) R DT

BEB er1p5g1d50M darg) P 160us! e11pF5E5655ES 5@ Ceu eTeTeT vty
2 oreng) ey &ewst(RLSlg E5ayLb.
A) S B) U C) R T -
How many such letters are there in the word “TIGER” which _remalg same in its
position, if the letters are arranged in ascending order alphabetically ?
A) None B) One C) Two D) Thr:;eﬂ ol
n - . - . - . - Gfrg_@h’ ", a{ g (73] 4 /
(DOSion) & e G o S b L B cébem
GUHLD
A)@None B) One C) Two D) Three
If 382 is written as 238, 473 as 347 and so on, then which of the fallowing two
numbers will have least difference between them
382 473 568 728 847 629
A) 473and 382 B) 629and728 C) 629 and 568 D) 728 and 847
3 ST L 3 &Sy Lb eT(Lp Harmen, EBiLwyerenancusetlcy
s Qoo aeass G DR e St
382" 473 568 728 847 629
A) 473and382 'B) 629and728 C) 629 and 568 D) 728 and 847

If the first and the second digits of each number are interchanged, which number |
will be the second highest ?

382 473 568 728 847 629

A) 568 B) 473 C) 847 D) 382
STESIERIGT (Lpg Ve Lo miLh (3) yevr_may N850 (digit) oapmii L meb e1bg erevor
Qrew g 9Psul’s @) g 8556\ ar &evm (L. Sa e Lb

382 473 568 728 847 629

A) 568 B) 473 C) 847 D) 382

If the second and the third digits of each number are interchanged. which number
will be the third highest ?

382 473 568 728 847 629

A) 629 B) 382 C) 473 D) 568

sTewvewilcir @)geir_neug) wHmb epeiTpraysy al&\gb (digit) wmdMemmsn, 615 eTaunr
PTG YD G & Q)58 Cwer sy Saayh

382 473 568 728 847 629

A) 629 B) 382 C) 473 D) 568

Village police means ’

A) Village Administrative Officer Bg Friends of Police

cf Home Guards D) VAO and Village Assistan

8)gning smeued e16iTLS) 1en 55 @& Ld :

A) &gnw Piauns IS/ B; HMCUGY [56WTLI TG 6

C) swiganmased ueni D) @urw Hicuns HQIVGIT 10 my1h Hemavwi
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Enhanced punishment is provided under which Section of IPC ?
eors B) Sec. 80 C) Sec. 70 D) Sec. 56

A8 &MG& L SHI_mew @BHw & eI TS sl Lger 155 Ldlalar 81p
G)am@a;a;um_@armﬁ, 0

A) ey 75 B) 19y 80 C) ey 70 D) 9dey 56

"Z under the influence of madness, attempts to kill ‘A". ‘Z' is guilty of which offence ?
A) Murder B) Attempt to murder

C) No offence D) None of the above

AsgiBlereudsb un®umsy ‘@ eI, ‘9 eTeTLIen TS blETeIe (LLWDH DA,
'@oT’ 6168 GDDE®S QFiisaugTR I 9

A) @Qsrenev B Qsrenaowps

C) 90 @opsmsyt Qsiwaldme D) Gupamfuesma sse Bl

The right of private defence extends to protecting

A) Body and property B) Victim alone

C) Offender D) None of the above

SDETLIL] 2_Men Lo eTaTLIG sriunhplé G&menenb o Meniowm@Lb.
A) 2 v wpmb 2 e B) un®és i’ L_euenyg o Bb

C) @pmb yfieur D) BuwGe Qensirarena e1geyillcbene

Death occurred within how many years of marriage is called Dowry death ?
A) 7 years B) 5 years C) 10years D) 3 years
s sament Gsn@ento IR eT61LIG B (HLOCRTLONGT 6155 ST QU (FLSDD &6

A) 7 upmiser B) 5 aumimer  C) 10 aurisenD) 3 eup_niserr
Study the number series given below and answer the question that follows

7897653428972459297647

How many 7's are preceded by 9 and followed by 6 ?

A) 2 B)3 C)4 D)5

8Gupuysiren eraiy eurllevasafley %Ufnugg Geir 8pCs L Caeralls e u@waﬁ&smm
78976534289$2459297e47

Grggmm 794D GTGuT 9 QYLD GTGHVEm ewar P58 QBSRDS eTEIPILD 6155 e BgyLd

arawanenr 1955 @)BEEDSI GTeWmYLD (&M1& ey LD
A) 2 B)3 C)4 D)5
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. n Umbef ?
Which of the following is the 2™ digit of the 2™ lowest n

813 479 564 385 792 D) 8
A) 1 B) 7 C) 6 - it)g(;y,w‘.;mmm&aﬂd’
@ gem_teusy e pasTen sTevwenlea, @ga’sn_nmg & (dig

613y TSIy ascfar@:.ﬁ:_q,é;faﬂ_br

813 479 564 385 792 4
4
A) 1 B) 7 CYye D)
Which of the following is the sum of the 1#and the 37 digits of the 2" highest number ?
813 479 564 385 792 i

A) 11 B)~13 C) 9 P
Quan_nugy HPs ULl s esmenilsr, (PSRTAUS wpHmib AV @55 P e (digit)
&t'r;@ig%gm&\chy:q(sﬁsm@sg {ssm@d)qssasmm

813 479 564 385 792

A) 11 B) 13 C).9 D) 8

While talking to friends you do not pay attention to the skills of

communication. ) ¢

A) Written B) Oral C) Audio DY Visual

55 ClsTL T 2 MsEpL W FeRrU LT o emgwnBib Cuig bs 2 @gwm_eSle

suanb OFayFST06 ()58 56T .

A) egsiuc . B) amdQ@Qumy) C) <y Gun D) an &

In oral presentation outside your organisation you must first give the audience
of your organization. s

A) Flash back B) Back ground

C) Front view D) Forward view

BoaasSneg OwelCu gusdr g MGl aemisaler afers @b Gungy

UATNUWIMTFMEGS (Lsalew 2 misefer Plyeusmigeng s upm ereirer ULPEIS

Caverm(pio

A) Sems Cus B) Aerement

C) warsr 9 D) werGarsg unieney

The authority competent to dispose an unlawful assembly is

A) Any Police Personnel

B) Any Police Officer not below the rank of S| of Police
C) Inspector of Police

D) Deputy Superintendent of Police

FULEBDG LDDLING Salg W GLbUMG Fenevda ABSTID 2_ciremeu
A) eignaugs @ sreaue oy elsi

B) emiyy gyuieuneni Henevi@ e WG &meuey algamﬂ

C) asmeusd 2 UIGu eI

D) amaued gyanewr satar s mewiliLmeny
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Is it true that constables in p,

* 1 - - d
they are not given any hqj; lice stations should work all seven days in a week an
A; es, it is correct Y holiday o leave in a week ?

B) No, it is not corr. _ ) _
o) rNegK?\tiri\;ng s;ix dasgtotfht% mggkava.l one day off duty in a week if they work on the
,itis not ¢ _ . ) )
'ﬁave accoun? rrect. They may avail one day leave. Which will be deducted in their
i
g m:i,l !;;Sa: ! cczrre?t_ Th-ey may avail Sunday besides availing off duty on a day
é:usfﬂf@l.b a%%&%cu earer sneusisar eungsPe 7 il sepn Gome Qleusw
2_GETGHLDWIT 7 SID Iy ouira ed & e G Qi yevaug) I Gaun GlenL W] GT6H LIS LD
A) 2, g efgner
B) @@, o5 efltleramer oy

@ BT S8y oT @b urSSev 6 BAL e H@aush LB Ted

WD PUG 61(h 535 CEmeTeTVMLD
W, g silillciene alcuﬁmggm'wsmg QLY s B)GES b

C)
@ Ber SO IY TR S346 Qsrereraomb
D) %@3’@’ S8 Ffllvme Syeuiaer umISBd @@ FreT JBIVD (PP PUIAILD
@i aury QG pepy BS54 QsTareTeonth

DIG of Police, Superintendent of Police, Deputy Superintendent of Police and a
Tahsildhar are present at a place of an unlawful assembly. Who can order dispersal
of unlawful assembly.

A; DIG of Police _ B) Superintendent of Police
C) Dy. Superintendent of Police D) Tahsildhar

sl aflGyng sl L b @& &y ysior @)L FDe SM1UDF MDIINSTSS VI,
MU 6D 5G.was.nmﬁuurrmﬁ. BIHGET &Tau6h sawamendILTeTT HmLd el L m  Swri
@GBSI &L flGITgs sal’ L5038 s@aés WI(hES HBSTID 2. ( ?
SMQUED FIGHM FIHEHTS 5 GUGUIT B) sneue) &evwamenfliumentt
C) syemewmisgameus sausreiliument Dyt L m Sur

Tamil Nadu Special Police Youth Brigade Act was enacted in the year

A) 2011 B) 2012 Gy 2013 D) 2014

sOPBEIH Apliyssnus @emanesi ueL & s L b 61bg () GuomLiu L g ?
A) 2011 B) 2012 C) 2013 D) 2014

The First Police Training School in Tamil Nadu was established in

A) 1896 at Vellore B) 1910 at Vellore

C) 1947 at Chennai D) 1947 at Coimbatore

sreuew LD Lered LpSeT (LpSeSleL gtﬂg)&g’@d} qIGuUNS) Y bLIda 1L LGl
1896, Gugynﬂeb ) 1910, Gm@mﬂa‘; )
C) 1947, Qzarenaruiley D) 1947, Ganwupsgniev
LEB &S Gouam®Ld ? - sl
ﬁ) g%@(@l_{ija;dr @B) 5 QUL mISET C) 10 sugs_misarD) 3 eu@L_wiser

The ___ are used to present using overhead projectors.

A) Acetate film transparent Sheet B; Paper Sheets

C; Polythene Sheets D) Butter Paper

GuosvBanev L1QyTOIQEL-®T pweu®sgih Cung ereng GpeneuiLi@Gib eTew
levg&mi ULt/ QeuefiiueoLwiaest gmer

B) sn®ag grer

Lmed)g &) 6t &mer :
D) QeuernrGewri) STHSLD
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Any word that adds more meaning to the nour? is f:alled arE) o
A) Adverb B) Verb C) Adjective . il
QUi Qerceli@ s BseTen 85505 CSTHSGL Qaned 615
SO PSESLIUGID
A) aflencwuyiig Gamad B) aﬂma‘r .
C) 2AéQemar 7 D) Quuwilsere
A_________indicates the action done by the subject.
A) Verb B) Adverb C) Noun D) Pronoun
Cungeaier Qruame AT g wTama .
A) aflenew B) afenaryMéblened
C) Quuwi@sna D) 8@ Quur
A______ isaword which connects word phrases, clauses or sentences.
A) Prepositions B) Conjunction
C) Interjection D) Verb

b3 urigens Qenn GO isemeruth, o 1 Meysenaruyib odpyLh S E W kISEn ey b
Qeewsg b ey Qenaewayd

A) eiedanig Qe Bf @eemigy

C) Bwnferr_Qoned D) aflewar

During presentation using an OHP. One can read information line by line using an
opaque sheet to cover the transparency with a view to minimize distraction. This
technology is called

A) Positive disclosure B) Zero disclosure
C) Negative disclosure D) Progressive disclosure

OHP augrisa) Can® & @Cungy seuears Slamed @)evaumioey @)w5s Transparency
81 1y 651 Crocb 2_siren gallysm 8 oL LUSTUGSS upmiGid (penpudeir Qi steiren ?
A) Gpiwenp QaveliunG B) ygewi Qaueliung

C) e®iwep Qeaaliun@ B) wearCernégsrer Qeveliurg

Who was appointed as First Director General of Poli
in Tamil Nadu in 1979 2

A) F. V. Arul B) Pon Paramagury
C) E. L. Stracy D) S. Sripal

1979 & snaudgiomp QuéEmi uges V)
RQuéEEIns Leal HWAIES UL L e

A) F.V. oymer B) Qunanr LT
C) E.L. v’ Gy® Bj s. ume

ce, when the post was introduced

1
!
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. Official vehicle of g pqy; ) _
L st)ar:gs)‘ Olice Officer of Inspector General of Police displays

i B) 2 ,

] ; ; C) 1 D) Nil
5”"’6\)@“‘ T - . - .
i O Psg 15 s amseug P plapPon(ss)

B) 2

Which one of the foliowi C) 1 D) @evenc
= A) SBCID » O[Bk))wé" ILljnits will not fall under Intelligence Wing ?

Birduean i%H CyCBCID D) Q Branch
P eI Ll soMe) 6151 meimemia” S i
A) SB CID B) OCIU .'-'ﬁﬁﬂ-é) Cg)gllgrmggggo) o -
6. Which historical event i o : ;
16 CID in Police Do artrr?gr?t q?nven home the indispensable necessity of special Branch

A; TheCvellore Mutiny B) The First World War
€) The Second World War D} The Sepoy Mutiny of 1857

o "’ﬂ.ﬁ'gﬂﬂbumlb O wflev Fesflli M . 2 )
Quap sGsms auclymsPug, © LN YRS SievD ®

/A; 1806 Gouguri savasih
C) @ueswi_mb » ewsiCumi S7 floumd Lol 8
167. Thtebdetails and other works regarding the criminals of foreign countries are carried
out by
A) Central Bureau of Investigation
B) Bureau of Police Research and Development
C) National Crime Record Bureau
D) Intelligence Bureau

Aopr’ @ @pperelsdr #bupsUuL L alleurmiser ojemarsgb L 6% % @15 LD
gpsuid Bleanp Cauppiu@Eng).
5B ywenioys s (CB)
B) &meusd g rmiié® wpmd Guobum () stb (BPR and D)
C) CsPw Gmp syeusww smiusn (NCRB)

g; %gsum.b 2 ewaGumi

wsHw perepla ey (1B)
188. It is important to consider proper room where you are giving your
resentation. o o
R) Dearkness B) Lighting C) Lightning D) Ventilation
Briser quyprisll QanBéEGh Guigl IBS Jmpuiled (pe&Bwiomey &@HESLILGB UG
Zr)mg@m B) eeuilig.m C) Wsrarad D) smpConiib
169, listening means learning through conversation.

T iati lalogic D) Empathetic
B) Appréciaiive: ~©) Dinogee, D). B

:\')‘ E\glu.atw:;)‘s’ Gungu 2 @IWILG) APRLD SDDIS @mr'm@,r_ﬁnsm ?

A)ﬁgm@ﬁ:;(—mb B) wmgm iy Craepum.e D) 505 wid

170, | listening the difference betéveen thr? sounds is identified.
. In B) Comprehension
A; Discriminative _ Dg Empathetic
S’. Dgloglc —— s Par aﬂé@éj)nigxﬁxrgrasdw@dméa (LoLg.u/Lh
& Gz L_oSleir s
Af unful gwnesh D) %Gz u 18

C) s ampum_a



